Sr Questions Answers Choice

A. Workbook

. Worksheet
Spreadsheet

Notesheet

1 The actual working area in Excel is;

MS-Word
Ms-Excel
Ms-Powerpoint
Both a &amp; b

2 Which of the following is a spreadsheet?

3 By default how many worksheets are present in MS-Excel workbook?

4 A formula in MS-Excel begins with symbol.

Workbook
Bar
Status

5 Group of worksheet is called;

A1
A1$
A$1$
None

6 Which of the following is an absolute address;

Row

Column

Address

Row and column

7 Each cell in a spreadsheet has a unique;

AA
25
3B
C5

8 Which is a correct cell address of worksheet?

DOmP» DOWP DO®mP DOUP DO®P UOWE UODP» 00w
(@]
@

Data
Field
Cell
Equation

9 The intersection of a row and column is called;

65536
256
2365
None

10 A signal worksheet contains columns

Numbers
Text

Picture

All of above

1" In table we can display:

COm» DowP» TOm>

. MS-word
. Wordpad
. Notepad
. None

12 The popular world processor is:

A

B

C

D

A. Landscape

. . B. Portrait

13 The page orientation may be C Both a and b
D. None

A

B

C

D

A

B

. Script

. Macro
. Ruler
. Menu

14 A is character or word that represents a series of keystrokes.

. Menu Bar

. Title Bar
C. Scroll Bar
D. Status bar

15 The bar which contains the name of active application is known as:






